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B.Com Part- 1 (Honours) Paper- 2 Group D
Subject: Company Account
University Department of Commerce
And Management
B.R.A.B.U, Muzaffarpur
Multiple choice Question - ( Tgfdwedra geH)

The final Accounts Include:- (eifom @ § ot ®)

a) Profit & Loss A/c b) Balance Sheet
(@ iR BN @) (arfe <)

c) Both A& B d) None of these
@ iR @ <) Fuiad g )

As the per company each a joint stock company has to prepare :- (Gut ST & fda T LIH HUN B IR BT 7)

a) Trading Alc b) Manufacturing A/c
(&R ) (Frfor ran)

c) P/L Appropriation Alc d) All of the above
(e 3R By fafErT @) g a4)

According to section 210 of company act 1956 explain the provision for final A/c under :- (®u=t TfITH 1956 @1 &RT F0

@ ded Sifod @Ta & wraeT @) e o ()

a) Schedule VI (Part 1) b) Schedule VI (Part 111)
(org= VI (T 11 ) (rgeget VI (T 111 )

c) Schedule VI (Part VIII) d) Schedule VI (Part 1X)
(ergae VI @ VIl ) (r g VI (T IX )

A joint stock company is required to prepare its final A/c :- (Fgaa e HU BT AUAT S G TIR HAT MMATTID ©)

a) At the end of financial year b) At the begining of calender year
(fo<frg o & =i #) (@eleR 99 Bl g H)
c) Both A& B d) All of these
(@ 3R @ <) Eude |+ )
Trading A/c of joint stock company provide information about ;- (v& wgaq wie U & ST @M & IR § TEGRI USH
P B )
a) Gross profit & loss b) Net profit or loss
(el o™ 3R ') s am iR =)
c) profit & loss d) None of these
(e iR =) e § ¥ o1 7E)

In joint stock company section 2012 describes/provides :- (Haa@ wfe U AT 2012 F I/ USH HRAT ©2)

a) Deals with preparation & presentation of final A/c  b)

(oiferm Ty A o AR TRy W < )

b) For disclosure of certain details in Balance Sheet. d)
@i oNe # g AU & gHdexe & forg)

Prescribe 'form' & ‘contains' of Balancesheet
& P/L Alc

(@i e 3k N /T ABpISe B B AR AN BT
frerfRa =)

For the financial year of holding company &
subsidiary

@R Bu iR WerE wul & g a¥ & for)



10.

11.

12.

13.

14.

Profit or loss of is called profit or loss of prior to incorporation. (... H A AT BN BN FHAHAT B qIE BT A
7 B BT ST )

a) current business b) Textile business
(a1, =AMIR) (SoreTEel )

c) coal business d) rubber business
(Tl =MIR) (kR =TIR)

What is Goodwill ? (=i r 27)

a) capital (&) b) Assets  (f)

c) debts (@) d) expense (@d)

Uses of profit prior to incorporation are for :- (F#Me™ qd &7 &9 &7 WRINT fomar Sirar 2-)

a) Capital loss (Gt =rf) b) Capital reserve (s w=)

c) Time loss GERESIR)) d) turnover (FRIER)

How many form of amalgamation ?  (v@iexor & faas @y 814 )
a) 12 (aRE) b) 3 (cfr)
c) 14 (@rs) d) 5 (d=)

Pre-incorporation profit is credited to which account ? (& mies & gd @ il @1 {59 @ § sfse fosar s 2?)

a) statement of profit & loss b) General Reserve
(em—=1 faa=on) (= St

c) Capital Reserve d) None of these
(st W) (& A BIS )

For which purpose profit prior to incorporation may not be used ? (FA™e & 9a & @l &1 YA 5w & & forg 78
T S |dar 27)

a) To write of capital losses b) To write off goodwill

(@sirma =1t @1 smufolRad & & for) (@MR® BT & Hod B FATK B & fo1))
c) To create capital reserve d) To distribute dividend

(@St H= @1 fFEr a7 @ for) (@mer faaRer & forg)

Asha Itd. issues 5,000 equity shares of which only 60% was underwritten by Kiran Itd. applications for 45,000 shares
were received is all out of which application for 26,000 were marked. What will be the liability of Kiran Itd ?

(arem foto 50,000 FHAT e T Rl 8 RaaT 60 uferera wnT fhea foto gwT e fasar ar €1 45,000 3f%f & forg amdes u=
aTeT gY R A 26,000 3ae i o | == fofo &1 <R 8RTTY)

a) Zero  (¥) b) 1,000 shares (1,000 3f21)
c) 2,000 (2,000 a7%) d) 4,000 shares (4,000 37eT)

Shanu Itd. issues 30,000, 6% debentures underwritten by Rachana Itd 30%, Shashi Itd. 30% and amit Itd. 20% Market
applications for 24,000 debentures were received. What will be the liability of underwritters.

(@, feto 30,000, 6 Ufrerd Fo—u= frffa wxclt & f=gaT 30 wfrerd Wt w=m oo =, 30 wfcrerd T ¥ft ffo 71 iR 20 wfoera W
AT 0 7 SIS fFaT 81 24,000 FOI-U31 & forg fifed amded o= WIwl g | ARRIST &1 aidea fHar 87)

a) 14,000, 1,600 , 1, 600 b) 1,600 , 1,600 , 1,400
(14,000 , 1,600 , 1,600) (1600 , 1,600 , 1,400)
c) 18,000 , 1,800 , 1,200 d) 2,000 , 2,000 , 800

(18000 , 1,800 , 1,200) (2,000 , 2,000 , 800)



15.

16.

17.

18.

In the case of a private company profit prior to receipt of certificate of incorporation is known as :-

(T ot HroE o <o H T yeH—ud @ uiftd fafr e & am B PEd B )

a) profit prior to incorporation b) profit after incorporation
(AT & qd W <) (T & a8 BT o)

c) profit at incorporation d) All of these
(AT & dF BT ) Eugaa a)

Profit prior incorporation are profit. (FeT & 9d & A BIT 27)

a) Revenue  (@mrma) b) Capital (§sfrma)

c) General  (@m™) d) Dividend (emrer)

Insurance expenses are located on the basis of ? ([ @1 fas smIR W fawsi= fsar ST @)
a) Sales  (fs=) b) purchase (@¥g)
c) Time (@) d) Capital  (dsh)

For calculating pre incorporation profits administration expenses are apportioned in ? (F9#eE & qd & o™i &I T

PR AT Ao A B b IR W i fhar Sirar @ )

19.

20.

21.

22.

23.

24.

a) Sales Ratio (fe rguTa) b) Purchase Ratio  (@die arum)
c) Capital Ratio (Gt argum) d) Time Ratio GEEECECIG))
Profit after the incorporation is transfer to ;- (T & 9garq & ATl BT ..o A gwaifaRa fear od 7 )
a) Capital Reserve b) Statement of profit & loss

(Gon wiffa) (@ ok =Y fawon)
c) Balance Sheet d) General Reserve

(aferam) (@Y GRE)

Preliminary expenses is located on a basis of :- ERf@maa &1 e ergura § ffora fear siar 2-)

a) Sales  (fS=) b) Purchase (@)

c) Manufacture (Fmiton) d) None of these (&7 & @1g )
Profit prior to incorporation may be distributed as ;- (Fe & 4d @ sifvta @il @ ford wu § faaRa fear s &)
a) As profit (@ & wu #) b) As interest (&rst & wU H)

c) As dividend (amier @ w9 #) d) As capital (s & w9 #)

Office expenditure is allocated on the basis of :- (@ =@ @1 & srgua # o fawan ST 8-)

a) Sales  (fsm) b) Purchase (TRg)

c) Bad debts (&) d) Time (993)

Gross profit & loss is allocated on the basis of :- (@& @™ &R &1 F7 R &)

a) Turn-over Ratio (sl & MR W) b) Direct expenses (Ieer =)

b) Basisof Time (90 & MR W) d) All of these Sugad )
Fixed variable charges are ;- (Rl =g 7 fam & A7 @ AT 72} 98 © 1)

a) Advertisement  (fa=Ta=) b) Salary (et @)

c) Rent  (fawmm) d) Packaging (&f&)



25.

26.
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28.

29.

30.

31.

32.

33.

Underwriting commission salary of Managing director are the example of ;- (EfrUa S, FARHET Haras &1 Ia4
s SR 8 )

a) Expenses belonging wholly to cost incorporation period e & d1€ &1 @)
b) Expenses belonging to pre incorporation period. (Fme @ gd &1 <19)
c) Fixed Variable charges (wmit &1 =13)

d) Variable Charges (uRad=efiar a)

Necessity of Ascertaining profit or loss prior to and after incorporation ;- (FAMe & Yd 9 =@ & @™ 3T 81 Farem
@ rewar g 2 )

a) provides accurate profit & loss b) provides uses of accurate profit
(FE o™ I TN B 79 B for) (TE o™ & AT B 79 B o)
c) Uses of accurate losses d) All of these
(Ts T & T & fom) (T & 7+)

According to companies act 2013 which section, the ability to contract any company is obtain only after getting the

certificate of amalgamation and certificate of commencement of business :- (&= 1T 2013 F1 fFF gRT & AR
e Wt HFOY BT ST B B AT FHHE BT YHI UF UG FGHRT ATl BRA HT YA UF e & 919 & ur B § )

a) Section 10 (@RT 10) b) Section 11 (@R 11)
c) Section 12 (@1 12) d) Section 13 @R 13)

Method of finding out profit or loss prior to or subsequent to incorporation are ;- (T a1 HE URY &1 & Jd a7 91K
& ™ AT B ST PR BT A 8)

a) Time method (T & ITAR) b) Turn over method (e & &17ER)
c) Time & turn over method (st e w973 @ rgER)  d) All of the above (ETH & &3 =7E))

In which account the amount of loss is opened if their is no goodwill A/c in the book of company :-
(@I o gt ¥ EIfd @rer 7 8 Al N B 369 9 B | @ @ (a9 g )

a) Balance Sheet b) Income & Expenditure A/c
(@& @) (@ iR o @)

c) Goodwill A/c d) Reserve & Surplus A/c
(fer wra) (MRFEreT 3R arfrery )

In which account is the loss before amalgamation is debited :- (Fe™ & & & =i ford w@rar # Sfae fear Smar 2-)
a) Goodwill Alc (= @) b) Suspense A/c (=g @Tan)

c) Profit & loss A/c (a1 =1 @) d) Receipt & payment A/c @i &iR 7 @)
What is declare as profit after amalgamation :- (F¥Me & UaTq 9Tel o™ & T GING fBar ST 8-)

a) Divisible profit (e aa @) b) Dividend (Srrer)

c) Interest (=) d) Expenditure (ad)

Which of the following information is important for preparing the balance sheet after profit prior or post prior
ignlti(;rporation:- (T & U4 Qd URER @) af H qedT B @ 919 fager e & forg e § | B A1 g wee ot
a) Capital Reserve  (4sT ©=m) b) Cash Balance  Rias aman)

c) Both (a) and (b) (‘a1 iR ¥ <) d) None of these (5T & &1 72))

Fixed distribution expenses are divided according to - (el faaRvr <17 @1 fFae AR dfer ST 8—)



34.

35.

36.

37.

38.

39.

40.

41.

42.

a) Time (@53) b) Sales (=)
c) purchase (=Ri=) d) expenses (@)
Variable distribution expenses are divided according to -  (aRec =i faaRr @ &1 fFae AR dfen e &)
a) Time (999) b) Sales  (fam))
c) Purchase (@Rig) d) expense (Fd)

What happens to the bank account when the buying company issues shares to the share holders :-
(S el HF fashar @l ofer g et & @ 79l o @9 R d@ @rd | w® e S 2-)

a) Debit (sf¥c) b) credit (@fe)
c) none of these (&7 & 315 =) d) (@) or (b) Both @@ @ iR ‘¥ IMi)

What happens to the capital account when the buying company issues shares to the sellers :-
(ST9 sl B fasha B ofer Fffid el @ o ) U 8 R ISh "W @ BT ?)

a) Debit (Sf¥e) b) credit  (@fe)
C) none of these FH I 3 ) d) Both (a) and (b) (e ‘a1 iR ‘T IH)

What does not earn until a company is incorporated and amalgamated :- (T% &H= &I T RMUAT B S & AR FHBT
FAWEH T8l BT § 99 dd fheaT oo e 81 8 —)

a) Loss  (g1f) b) Interest (=)
C) Dividend  (err=r) d) Profit  (am™)

Under which head is it shown in the liability side of the balance sheet of the company :- (@4t @ snfdfe fres & R
@ U ¥ e O¥e & sraid famar o 27)

a) Income & Expenditure Alc b) Capital Alc
(@ &R e @) (Gsirre <gran)

c) Reserve & Surplus d) Goodwill Alc
(emRfare 3iiR arferery) (F=fay @ra)

Under which head of the assets side it escaped in the balance sheet ? (e fage o 39 wwfd w3 @ fa Widw @ sraela
@ ST 87)

a) Divisible profit b) Miscellaneous Expenditure
(o= I o) (fafaer =)

c) Reserve & Surplus d) Deferred Revenue
(eRfgT &R arfdrery) (o= =)

What is the profit prior to after incorporation treated in suspense account ? (F9FEE & Yd & &M HT F<al @T H a1
fopa Smar & —)

a) Credit b) Debit
(fee) SE)

c) deducted from Suspense A/c d) Added to suspense Alc
(A2 W ¥ "™ S 8) (A< W A ST ST ?)

What is done in the statement of profit & loss of unearned profit of buying company :- (@ar &=t & smawa @ &1 g1+
fqaxor # a1 fpar wimar 2-)

a) Deducted (ereran) b) Added (SrsT ST ®)
c) Transfer (ewanf=aRa fasar S 2) d) None of these 57+ & &3 =75))

Expenses are treated as before incorporation expenses :- (FAM@T | Yd dTell 3@fy & A9 W 8-)
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44,

45,

46.

47.

48.

49,

50.

51.

52.

a) Vendors Salary  (fasar &1 aa+) b) discount (@een)

c) Rent (fom=ram) d) Interest on debentures (o 9= W =)
Any company assumes statuary existence after ? (@ TN & 91 JTE ARG BT Rl ©)
a) Incorporation b) Certificate of Commencement

(FAE) (THTOT—1)
c) Registration d) All of these

(@sraRom) (5T & )

In what ration is the total profit for the year divided if it is 10 months after profit prior to in corporation ?
(TIREE & 918 BT I 10 WIE B A1 I¥ B ol A BT b U # dfc 31 S 2 )

a) 3:10 (3:10) b) 6:12 (6:12)

c) 8:13 (8:13) c) 2:10 (2:10)

If the sales after profit prior to incorporation are 80,000 and the sales before profit prior to incorporation are 40,000 that

what is the ratio of this ? (Fame & are & fa@T 80,000 B AT 3k d 3T 40,000 T T U P9 g # dfer omam =1)
a) 40,000 : 80,000 (40000 : 80000) b) 4:2 (4:2)

c) 2:1 (2:1) d) all of these (T & I

The total profit for the year should be divided according to :- (@¥ & ot o9 &I frasd gaR v fasam e 21)
a) Time method (GLEECENIN) b) Turn over method (s & o/ 9ER)

c) Time & turnover method (¥ st & SITAR) d) Company method (F=Tt & STER)
Profit Prior to incorporation are ;- (T & gd @ AT o™ &1 I AT A BT )

a) Revenue profit  (smara o) b) Capital profit e )

c) Gross profit (Fdha o) d) Dividend (crTen)

Loss is divided as :- (&1 &1 foifora fosan Smar 2)

a) Time ratio (F7a 3ruTa ) b) sales ratio (st argura #)

c) general ratio (AT 3ruTa H) d) None of these (57 & =13 =)

Gross profit is divided as :- (F&e @ &1 frfoa famam e 2)

a) Time ratio (7T SrguTa ) b) Sales ratio (femt arguma )
c) General ratio (T 3rgUT H) d) None of these (5% & @&I$ +2)
Advertisement is divided as :- (fasmos &1 e fvar e 2)

a) Time ratio (7T SrguTa ) b) Sales ratio (St argara )
c) General ratio (T 3rUT ) d) none of these ™ 4§ HIE )

As per As- 14 Purchase consideration will include the payments that are payable to whom:- (As-14 & AR %3
gfiwe # 9 e et 86 i frafafed § @ el ve @1 <9 )

a) Share holders b) Share holders & debenture holder
(rerenRa) (@erenRat iR FEo—u=reniRa)

c) Shareholders & creditors d) Debentureholders & creditors
R N— i N

Which method will be used to record amalgamation in the nature of merger in the books of transfer company ?
(ST IR e @1 UGRT &1 8 O SHHT @i SRy HF ¥ fod Yy & farar smm?)




53.

54.

55.

56.

57.

58.

59.

60.

a) Pooling of Interest Method b)
(Rt &1 gErmxom)

c) consolidated balance sheet Method d)
(g forsar fafd)

Purchase Method
(s fafe)

None of these

(Swiat ¥ I L)

To which account the different between the purchase consideration and share caital of transferor company will be
transferred under pooling of interests method? (Zat &1 wErexvr faf # &g ufawa iR sWTs T &) ofF §off & R

BT fa @A 7 exaraRd fhar SR?)

a) Amalgamation on adjustment A/c b)
(TTepvoT HHTST @)
C) G/R or P/L statement d)

(A= fafT sterar am—gT faavo)

Goodwill or capital Reserve
(e srerat Yot wfafa)

None of above

(Fwfa 7 & B TE)

What will be recorded in the books of transferee company under purchase method ? (g fafer # sxar<<l FF 3d+

gDt H fHadr okg He?)

a) All assets and liabilities of transferor company b)
(ERT=R® BT o T IRl g <1l @)

C) Assets and liabilities acquired by transferee d)
(BITOR® BRI DI AL ARl  S1fcal o)

All assets, liabilities and reserves of transferor
company

(EXTIRS B B T FHfal, STl iR
ol &)

Assets and liabilities acquired transferee
company and statutory reserves

(EXITR® B B AfeEa et g <1
AT S FEt B

(THIHROT AT TR B RN HFI B GRIDT H [HADT @l B B o @refl S 8 7)

a) Non-statutory reserve of transferor Co. b)
(ETR® HH & IR—Jenfrd Farl)

C) All reserves of transferor Co. d)
(BIiR® B & 1 )

Statutory reserve of transferor Co.
ERTRS B & il Fa)

Assets & liabilities acquired by transferee Co.
& statutory reserves

(EITR® B &Y AfewrEa it g <1t
T Junfre 9t @)

Accounting for amalgamation of companies is done a per. (H¥ @& TSGRV A TR Gid fBar ST 8)

a) As-4  (As-4 D JTAR) b)
c) As-14 ( As-14 & II9R) d)
From when accounting for amalgamation is regulated by As- 14.

a) 1930 b)

c) 1995 d)

As- 10 ( As-10 & 319R)

As-20 (As-20 & IrIER)

(UPTERT BT AT AS- 4 F9 F FaATerd BT o)

1929

1999

Which company is known under amalgamation, vendor company is called transferor company while purchasing

(THIHRUT & Sl FAdbaT HFIHl Bl ERIT<IRD BHT TAT Dl HFIAT DI FIT HET Il 27)

Public company (@rdwifa ww)

One person company (T& afad &ea)

On what value the shares are valued, In case of amalgamation in nature of merger . (e @t Ty § TarwRor # e o

company.
a) Transferee company (E&iT=<Rd ) b)
c) Private company (Frsit &#d) d)
e qou W yeiferd fasan Smar 27)

a) Called-up value (fa—a H&) b)
C) Subscribe value (FeT qe3) d)

Paid up value (ga&ar )

Market value (s9TR He)

On which price fraction of share are valued ? (il & @St &1 qeai®w v o W far Sram 27)



61.

62.

63.

64.

65.

66.

67.

68.

69.

a) paid up value (Fgepar ) b) market price (IR Hd)
C) called-up value  (®fa—am1 qe) d) subscribe value (Fewdr 4e1)

In case of amalgamation in nature of purchase the difference between purchase consideration and share capital of
transferor company is transferred to :- (&3 @1 UGRT & THHT & BT UGS AR TRTRS HHT B 3fe Yo @ AR & FfR
Bl BRI R far Srr ?)

a) Capital reserve (@0 w=3) b) goodwill  (w=fa)
c) Botha &b (&1 3R 9 TH) c) None of these (T & ®IE =)

Polling of interests method is used in case of amalgamation in the nature of :- (f2df @1 TEwRr A F7 wART e Tafi
@ YHIaRo o Reafd § fsar S ?)

a) merge  (faem) b) sales  (fS=)
C) purchase (s3) d) goodwill  (z=fy)

Which method is used in case of amalgamation in the nature of purchase. (fRf&r &1 wINT a1 & UGHT S TR o Rerfax
# forar Sirar ® wai?)

a) pooling of interest (fZdi &1 W) b) purchase (3)

c) merger (fae) d) sales  (fa)

Under pooling of interest method assets and liabilities are recorded at their

(Rat &1 e Ay # sy ok sffadl &f 99 . ot wR forar Siam 2 )

a) Existing Book value (e g He4) b) Fair Value &fra q=)

C) Purchase (3) d) All of these (57 & @)

Under which method assets and liabilities are recorded at their fair values. (s fafr & Wy ik <Rl @1 SRd g w®
foran wmar 21)

a) Merger (fae) b) Goodwill  (zarft)
C) Pooling of Interests  (fRal &1 wgiamxom) d) Purchase  (3)

Under which method, reserves & surplus of transferor company are shown in the financial statements of transferee
company ? (fFw ffyr # sxaRe HRE & Al SR FEAl BT g SR & A faarent # cwtar o 2 1)

a) Merger (fae) b) Goodwill  (=fa)

c) Pooling of interest (f=al &1 AqgI®R) d) Purchase (3)

Under purchase method, the excess of purchase consideration over the share capital of transferor company is transferred
to . (P A 4 PY INPE $ TRIRRS S B I Yol BT AR BT .o # g e fear o 2 1)

a) Capital reserve (@0 w=@) b) Goodwill  (z=fa)

C) Merger (faem) d) Purchase (s3)

Which company do not affect inter-company transaction :- (55 & &1 IRR—GFA FTERT HT DS FAT &) TSl ?)
a) Purchase (s3) b) Transferer (8&T=R®)

C) Foreign  (fa<=h) d) Transferor (g%dT<Ra®)

Alc to tradition approach, how many types companies are there ?  (GRARNTA ReHTT | HF fhaw TSR & BT 7)
a) One (T®) b) Two @)

C) Three =) d) Four @R)
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71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

When a company buys another company under an agreement called ;- (9 T& @ fhefl I9sid & orata fhell g
faermE HrE &1 wa fear ST € 9 S )

a) Absorption (3reta) b) Reconstruction  (g=famiom)
c) Botha &b (Sudad <) d) None of these (& & &I &)

A state under which either two or more companies are joined so as to form a third entity are :-
(@8 Refa e ewaia &1 HHFAT e # fAerax Ud fhll T 7= @7 RIoeT o S )

a) Amalgamation  (T®HI®HRT) b) Absorption (Sfderas)

c) Reconstruction  (gffon) d) Alliances (HaTST)

Advantages of Amalgamation are :-  (T@IHOT & G B—)

a) easy control (Frr=ror & gfaem) b) Services of specialists (frerystt &) ard)
c) easy distribution (fa=er # gfaem) d) all of these Sugad w4
Disadvantages of Amalgamation are :- (T@&xvT & & 2 —)

a) easy distribution (fac=er # gfem) b) economy (Frcreafiran)

c) easy control (ot # gfaem) d) over capitalisation (erfi—dsfres<on)

How many types of amalgamation are there according to As-14 ? (AS-14 @& 3TER TSR & fhd TR )
a) Four @) b) Six )

C) Two (=) d) Eight (sm3)

Technique of amalgamation are ;-  (T@aRe & ToHAS 7)

a) Horizontal form @fe <) b) Purchase consideration (w3 ufiwa)

c) Vertical form (fea =) d) Conglomarative form (v w@<y)

For transferring assets taken over by transfee company :- @R HFH §RT ol T8 AR & FRIRY & oy )

a) Realisation A/c ------- Dr b) Sundry Assets A/C ---------- Dr
To sundry Assets A/c To realisation Alc
c) BothA&B (@1 3R 7 <) d) None of these (7 & @IE =2)

Necessary ledger A/c in the books of Transferor Co. (ERR® &I [P ¥ ALTH G B)
a) 3 b) 2
C) 5 d) 6

The following reserves and funds are not mentioned in the balance sheet of transferee company are :-
(Fr=ifer o Ud BTNl BT Soold SATaN] Bu & fgs # 781 frar Siram 2 1)

a) General Reserve (dm™m=1 =) b) Insurance fund (T HW)
c) contingency fund (&rfirs @) d) All of these (g7 & w+)
The following are shown on the liability side in the balance sheet of transferee company :-  (Fifdsa @ISt &1 g

FU ® fage A IR uer # R A §)
a) General reserve  (\M=I H=) b) Provident fund (afasr =)
c) Contingency fund (wiaifrs @Iv) d) All of these (&1 @)

What is arises with the respect of amalgamation ;- (g@aRer & v § F97 IO BT 2)
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82.

83.

84.

85.

86.

87.

88.

89.

90.

a) General Reserve (A= =) b) Capital Reserve (&= i)

c) Other Reserve (31 <) d) Provident Fund (afasy fafe)

Necessary Accounts in Transferee Company are ;- (BTl HHT H 3Maed @I 81 ©)

a) three ™) b) four (@R)

c) two (@) d) five (af=

How many policies are there for determination of purchase consideration ? (%3 ufawa & faRe & fhaa RRET 2)
a) Two (@) b) Three (=)

C) Four @R) d) Six ()

Methods of Accounting for Amalgamation :- (@@i@RoT & orEia fafy )

a) Two (@) b) Three @9)

c) Four  (@r) d) Six ()

Under which it is mandatory to have at least two working companies :- (f&a® o=<fd 9-—9—F7 3T BRI HHfTAl F 8=
ifrard 2)

a) b)

c) d) Amalgamation (TeTeor)

All assets and liabilities are included in :- (e FHaREt o <A e )
a) Business (era¥my) b) Share (af=)

c) Debenture (=) d) All of these (7 w1 #)

Where is the accumulated profit transferred in the case of winding up of the company ? (&= & F¥O= &1 <907 4 |fa

ST BT Bl ARG [haT ST § ?)

a) Shareholders Alc b) Debentures holders Alc
(ererenfRat & @ #H) (ForenRat & @ #H)

c) General Reserve d) None of these
(T =g ) G | BIg T2

Accumulated profit includes :- (Hfa @ 7 s 2)
a) Capital reserve  (dsit w=9) b) Sinking fund (Rife T wos)
c) loan () d) Botha &b (31 3k 9 <)

Caluculation of Purchase consideration are :- (g wfdwa @1 70T o & fafert ©)

a) lump sum payment method b) Net payment method
(T Fe pmar faf) (gg g fafen)
c) Botha &b (a1 &k 9 <) d) None of these (57 & &5 =1E)

Accounting method for amalgamation :-  (T@teRer @ wrate+ faftrlt 2)
a) 1 () b 2 @)
c) 3 () d) 4 (aR)

Under this method, the shares can be settled by providing money for the differed share to the share holders.
9 A & sl sfeenRal &1 witeq ofwl & forw Aae, ua™ o MM &1 FueRT fFrar o7 daar 2)

a) Pooling of Interest method b) By issuing fraction share certificate



91.

92.

93.

94.

95.

96.

97.

98.

99.

100.

(Rt &1 wiaxer fafl) (fded afer yHo—u=t fefd @)

C) By cash Ri@s gm) d) By Purchase Method (o fafer grw)

The following items and profits will not be include in the liability case :- (Fr=ifeiRaa dfaftrl, @l vd ot &1 <1fra o
e T8 A SR )

a) Loan (W) b) Share  (3fer

C) General Reserve (9™ wa9) d) Purchase (&3)

Form of Amalgamation are ;- (T@&Rvl & WwT )

a) Horizontal form (&ft® wawu) b) Vertical form (aiffeq ww0)

C) Conglomerative form (fUvsa w@<eu) d) All of these (Sugaa &)

When the transferee company will continue the business of the transferee company :- (XTI H¥U B9 FHT<RD
FHH & FIATT DI AT )

a) After amalgamation b) Before amalgamation
(THFRT & 91S) (TPHIOT & TEA)

c) With amalgamation d) None of these
(THIHRT B WT) T ¥ PIg T2

Objectives of amalgamation are :- (@B & I )

a) Cover-capitalisation (arfa—gsia=on) b) Monopoly situation (G@TfEraRT Rerfd)
C) Industrial dispute EIeNfTH FHes) d) Economy (faeafam)

Important terms defined in As- 14 is. (ciaia= Ad— 14 # gRWINT Agwagel ores 2 1)

a) Amalgamation  (T®I®HRT) b) Reserve (d=zr)

c) Fair value (SIECR ) d) All of these  Ewaa &)

Important terms defined in As- 14 are :  (eRai®= A9 14 § gRIRT weeayof ores )

a) 4 b) 6

0) 7 d) 9

Under which As amalgamation falls ;- (f5s <igies AF@ & SIId TaTH ol AT )
a) As- 14 b) As- 16

c) As- 21 d) As- 24

An existing company purchase the business of another existing company . (@& faerm & &9 e & &
TAA BT I B B)

a) Amalgamation (TR b) Reconstruction (g
c) Absorption (GIEEEE) d) All of these (Sujaa &)
Today's erais :- (@TS &1 I 8)

a) Competition (uferusg’) b) Modern (srmgfi)

c) Traditional (IRHORTTA) d) All of these (Sujaa &)

How many views are there of the meaning of the word amalgamation :- (valaRor o @1 a1ef & e gfeaion B)



